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Time Allowed: 20 Minutes SECTION-A Marks : 20
| i O -i ®i O O -1 j
I in a square malrix A, At= - A, then ) , . X - -
the malrix A is calied. .. ',O Singular O Non singular O Symmetric_ @ Skew symmelric
Asi Laol? 0], |
Square mairix A = 03 158 O Scalar O Row - O Column @ Diagonal
malrix, _
In malrix multiplication the . ' — o
L properly do not hold, - O Associative ) Commulahve QO Distributive C Inverse

if a malrix Ais singular, ther the

O Aninfinite

system Ax = B has.....,..solution, QO Unique @ No Q None of these
‘Il @ is a veclor then the unite veclor -~ [a] . a
- ' O ~ O at+ |a @ —
denoted as a=....... O aldl a i |ai
Ifaandb‘_are_l‘wo-veclorsrthen!he O {a] |blcosd Ola[]blsinoﬁ ® |a] (b]sin0 O|a1|b|cosdﬁ-|
lengthof (& x b isjaxb|=.... : ) ]
If w3,y arethe direclion angles , '
= W
of vector r , then @® O Zero O -1 @) 0
cos? &+ cos? 5 -+ cos?y =.... -
IfA, G and H are the A. Mean,
G. Mean and Hormonic Mean then..... O A>H>G O G>H>A O A<G>H ® A>G>H
When a coin is lossed then the 1 @ 1 O 1
probabilily of gelling head'is ..... K 2 4 6
If Aand B are mulually exclysive - P(A+8B
events, en P (A) + P(B) = ... ® P(AUB) O P(ADB) O P(A-B) O Pa+e
The-fourlh term of the sequence § ) '
. ' A J -4 9 s
8, ={~1)" DT']»-iis ...... g 03 O+ O 3 @
Afunclion f.:x —» yissaidtobe....... - o
if gach element of y is the image of O Injective @ Surjective QO Bijective QO One-one A
some glement in x. ' : . . -
IFf{-x)= —f{qthen the funclionis g : Linear
called an ......Junction. ® odd O Evgn Q Idenily &
I _Theanequaliiyn?>n+3islrtie?0r... On=1 On=2 ® n=3 O n=0
0 _ [1=cos0 140080 o [1—sin0 O [Lrsin0
A ® V2 2
2cos (9—%—4}] Sin(pi—i}J:.. O S“l? + Sind @ Sin0 - Sing O Cos0+ Cosp O Cos0 - Cosd
l 21tis the peried of ... O Coseco O Sec o O Coto @& AandB l
The reciprocal of the period is called . - . verse period
e of the funclion. O Amplitude O lNa_ve length @ Frequency O In erse p

.Q@ 605*1[—})1;&0 O Cos“‘(x)

.,
Cosx

" 1 -
Cos™x
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MATHEMATICS (New)
Inter Part-| V

(Fresh/Reappear)

Time allowed for Section — B and Section — C is 2 Hours and 40 minutes.

Section—-B- : Marks: 50

Answer any TEN parts. Each part carries FIVE marks.

1.

10.

1.

12.
13.

Separale inlo real and imaginary paris of Z = (2a - bi) "?

o 23
Solveforx [0 -1 1=9.
0 45

Find the wond:nat(.s of ponn( P if |OP| =6 and OPis in the direction of 2i — 3 + 6k.
If in an AP, a, = 43, ay = 7 find ags.

n
Find the sum S, of the first n lerms of the sequence J[%J } .

Eind o M oW
' (n-4)| (,,_4)|

A sample space S =(AUB), P (A)=0.75and P (B) = 0.65 Find P (A n B).

2n 2 -
Show by mathematical inductionthat — 5 il is an inleger.

F(x) =:—l ..x 4 find the domain and range of f~*.

Graph the syslem of Ilnear equatlons 2x +y <8
+y <G
y =20
Prove Cosec 21t —Cot2o = Tanw.

If a cone is 8.4 cm high and has-a verlical angle of 72°', Calculate the diameter of its base.

Show thatl ryrr; = st '

Section—-C . Marks: 30

Note ; Attempt any THREE questions. Each question carries equal marks.

Q-

Qv

Qv

Q-vi

(@)

(b)

(@)
(b)

(@)
(b)

{a)

(b)

veosO 0 ysink
Show that | 1 1 0 =7
~sind 0 cos0

(A =3iej~k b =—2i+4j~3, ¢=i+2j~% then find a unite vector parallel to 3a + 2b + dc.

Show that the sum of the first n positive odd integers is n’.
"The sum of an infinite geometric series is 15 and the sum of lhelr squares is 45. Find the series.

Find nwhen "Gy :"C; =36: 3.

Find the sum to infinity 1+ 2.—13~+ 3.52— Fh—

Prove that EP}——“-— = Cos2p.

Cosec? [

Find the arca of the inscribed circle of the triangle whit measures of the sides 55m, 25m and 70m.
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